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S.Thomas’ College – Gurutalawa 

             GRADE:- 10         MATHS  
 
01. ,ilntspia epug;Gf. 
   i) (x + 3)2 = x 2 + …… +  ……. 

       ii)  (y - 5)2 = y 2 - …… +  ……. 

       iii) (2x + 3y)2 = 4x 2 + …… +  ……. 

       iv) (…+ ….)2 = x 2 + …… + 36 

       v) (….. -  ……)2 = x 2 – 10x +  …… 

 
 
02. Fwpj;j fpuhknkhd;wpy; 60 Ngupd; njhopy; tifAk; xt;nthU njhopy; GupNthupd; 
vz;zpf;ifAk; fPNo jug;gl;Ls;sd. mj;jfty;fis tl;ltiunghd;wpy; fhl;Lf.   
  
njhopy; tif      njhopy; GupNthupd; vz;zpf;if  
mur     08 
jdpahu;.    32 
Ranjhopy;    20 
 
03. Fwpj;j njhiyf;fhlr;p epWtdnkhd;W xU ehspy; jdJ epfo;r;rpfspd; xypgug;gpw;F 
xJf;fpAs;s fhyk; njhlug;hd juTfs; tl;l tiugpy; fhll;g;gl;Ls;sd.     
  
  
  
  
  
  
  
  
  
  
  
(i) fy;tp epfo;r;rpfSf;F xJf;fpAss; Miur;rpiwapd; Miur;rpiwf; Nfhzj;ijf; fhz;f.     
  
 (ii) nra;jpf;fhf xJf;fg;gl;l fhyk; 120 epkplq;fs; vdpd; Vida epfo;r;rpfSf;fhf xJf;fpa  
fhyq;fis ntt;Ntwhff; fhz;f.   
 
04. khztu;fs; ghlrhiyf;F tUk; tpjk; gpd;tUk; ml;ltizapy; jug;gl;Ls;sJ. 
,j;jfty;fis tl;l tiunghd;wpy; fhl;Lf.  
    
tUk; tpjk;         khztu; vz;zpf;if  
eil     120 
irf;fps;    80 
Nkhl;lh; irf;fps;   180  
Ng&e;J    240 
NtW      100 
 
  

05. jhq;fpnahd;wpd; 
7

8
  gq;F epuk;gpAss; ePupypUe;J mj;jhq;fpapd; 

3

4
 gq;fpw;Fr; rkdhd ePu; 

gad;Lj;jg;gl;lnjdpd; jhq;fpapy; vQ;rpa ePupd; msit gpd;dkhff; fhl;Lf.   
  

06. mky; gaznkhd;wpd; 
1

2
 gq;if Ng&e;jpYk; 

1

3
 gq;if Kr;rf;fu tz;bapYk; kPjpia     

    ele;Jk; nrd;whd;.  
i. Ng&e;jpYk; Kr;rf;fu tz;bapYk; gazpj;j J}uk; KOg;gazj; J}uj;jpd; vd;d  
gpd;dkhFk;?   
   
ii. ele;J nrd;w J}uj;ij KOj;J}uj;jpd; gpd;dkhff; fhl;Lf.  
  

fy;tp 

nra;jp; 

nghOJNghf;F 
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07. jhq;fpnahd;wpd;  
7

8
 gq;F ePuhy; epuk;;gpAss;J. mjd; 

1

7
 gq;F ePu; frpe;J tPzhfpaJ.  

i. frpe;J tPzhfpa ePu; jhq;fpapd; vd;d gpd;dkhFk;?  
  
ii. frpe;J tPzhfpajd; gpd; vQ;rpa ePu; jhq;fpapd; vd;d gpd;dkhFk;?   
  

iii. jhq;fpapd;  
1

2
 gq;F  ePu; Efug;gl;lnjdpd; jhq;fpapy; vQ;rpAss; ePupd; msit 

nkhj;jj;jpd; gpd;dkhff; fhl;Lf.  
  

08. xUtu; jdJ gzj;jpd; 
2

3
 I gzkhf ifapy; itj;jpUe;jhu;. jpBnud Vw;gl;l ntss;g; 

ngUf;fpd; fhuzkhf &gh 420000 mope;J NghdJ. vQ;rpa gzk; mtDf;Fr; nrhe;jkhd 

gzj;jpd; 
1

5
 gq;fhFk;.   

  
(i) mope;J Nghd gzk; nkhj;jg; gzj;jpd; vd;d gpd;dkhFk;?  
  
(ii) vQ;rpa gzj;ijf; fhz;f.  
  
(iii) mtdplkpUe;j nkhj;jg; gzj;ijf; fhz;f.  
  
  
09. Fwpj;j mgptpUj;jpj; jpll; nkhd;wpd; NghJ mfw;wg;gl;l tPLfSf;Fg; gjpyhf tPl;il 
,oe;NjhUf;F fhzp toq;fg;gl;L tPL fl;L;tjw;F gFjpfshf gzk; toq;fg;gl;lJ. Kjypy; 

Mukgf; fhzpapd; ngWkjpapd; 
2

3
 ck; ,uz;lhtjhf kPjpapd; 

1

2
 gq;Fk; toq;fg;gl;lJ. 

,Wjpahf vQ;rpa njhif &gh 750000 toq;fg;gl;lJ  
  
(i) Mukg;j;jpy; gzk; toq;fpa gpd; NkYk; toq;f vQ;rpa gzj;ij KOg;gzj;jpd; 
gpd;dkhfj; jUf.  
  
(ii) ,uz;lhtjhf toq;fg;gl;lnjhif KOg;gzj;jpd; vd;d gpd;dkhFk;?  
  
(iii)  Kjyhk; ,uz;lhk; jlitfspy; ngw;Wf; nfhz;l gzj;njhif Mukgf; fhzpapd; 
ngWkjpapd; vd;d gpd;dnkdf; fhz;f.   
  
(iv) ,uz;lhtjhf toq;fg;gl;l gzj;njhifiaf; fhz;f.  
  
(v) Muk;gf; fhzpapd; ngWkjpiaf; fhz;f.  
 
10. fhuzpg;gLj;Jf. 
   i) x2 + 4x – 21                           ii) x2 + x – 12    iii)   x2 + 5x – 24  

   iv)  x2 – 4x – 12   v) 3p2 + 5p + 2                            vi)  4x2 + 9x + 2  

   vii) 3p2 – 16p + 5   viii)  3p2 – 11p + 8  ix) 3x2 + 7x + 2  

   x) 3x2 + 16x + 5 

 

11. tphpj;njOJf. 
   i) ( x – 5 ) ( x + 3)   ii) ( 2x +3) ( 3x – 4)  iii) ( a-3) ( 3a-5 ) 

       iv) ( 3p – 2 ) ( 2p -7) v) ( y + 3) ( y – 8 )  vi) ( 3p + 5) ( 2p – 1) 

 

12. gpd;tUtdtw;wpd; th;f;f%yj;ijf; fhz;f. 

   i) √97  ii) √27.65  iii) √706. 097 

 

13. x + y = 7, xy = 3 vdpd; x2 + y2 ,d; ngWkhdj;ijf; fhz;f. 
 
14. x2 + y2 = 58 , xy = 3 , vdpd; x + y ,d; ngWkhdj;ijf; fhz;f. 
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15.  juk; 9 khzth;fs; fzpjg;ghlg; ghPl;irapy; ngw;ww Gs;spfspd; $l;lk; fPNo 

jug;gl;Ls;sJ.  

21, 26, 28, 32, 90, 34, 39, 41, 93, 48, 68 ,83 ,81, 95, 66, 41, 91, 48, 39, 94,  

80, 56, 96, 45, 41, 58, 38, 36, 40, 97, 42, 53, 75, 70, 87, 41, 52, 63, 39, 36 

i) juTfspd; ngWkhd tPr;irf; fhz;f. 

ii) mfhuk; ahJ? 

iii) ,ilaj;ijf; fhz;f. 

iv) ,j;juTfis $l;lkhf;fg;gl;l kPbwd; guk;gypy; fhl;Lf. 

 

 

 

 

 

 

 

 

 

 

 

 

 

v) juTfs; vj;jid khzth;fspk; ,Ue;J ngwg;gl;Ls;sd?  

vi) Mfhu tFg;ig vOJf.  

16) e];kp jdJ filapy; jpdrhp tpw;fg;gl;l rPdpapd; msit ml;ltiz 
fhl;LfpwJ.  

 
rPdpapd; msT (KG) 

 
10 

 
11 

 
12 

 
13 

 
14 

 
15 

ehl;fspd; 
vz;zpf;if 

3 3 5 7 8 4 

 

i) jfty;fs; Nrfhpj;j ehl;fs; vj;jid? 
ii) xU ehspy; tpw;fg;gl;l rPdpapd; ,il msit fpl;ba KG y; jUf.  

iii) ,jw;Nfw;g vjph; tUk; 30 ehl;fSf;Fj; Njitnad vjph; ghh;f;ff; $ba 
rPdpapd; msitf; fhz;f. 
 

17. mfpyj; njhilapd; ,U njhilg; gphpTfs; fPNo jug;gl;Ls;sJ. 

𝜺  =  { 1,2,3,4,5,6,7,8,9,10} 

A = { 2,3,5,7}  

B = { 1,3,7,9,10}  

i) juTfis ntd;DUtpy; fhl;Lf.  

ii) A ∩ B ,d; %yfq;fis vOJf.  

tFg;ghapil tuTf;Fwp kPbwd; 

20 – 29   

30 – 39   

40 – 49   

50 – 59   

60 – 69   

70 – 79   

80 – 89   

90 - 99   
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iii) (A ∪ B)|  ,d; %yfq;fis vOJf.  

iv) n(A ∪ B) iaf; fhz;f. 

 
 

18. i)    fhuzpg;gLj;Jf. a) x2 + 5x -36  
        b)  y2 - 25 

 
ii)  jPh;f;f  3x +2y = 14 

  x –2 y = 2 

 

iii)    tphpj;njOJf. (x + 3) ( x – 5 ) 

 

19. cm/mm msTila Neh;tpspk;igAk;> ftuhaj;ijAk; cgNahfpj;J 

gpd;tUtdtw;iw mikf;f. 

i) AB = 7cm, A𝐵̂C = 600, BC = 5cm MfTs;s Kf;Nfhzp ABC ia mikf;f.  

ii) gf;fq;fs; AB, BC  Mfpatw;wpd; nrq;Fj;J ,U $whf;fpia mikj;J 

mit re;jpf;Fk; Gs;spia O vdg; ngahpLf.  

iii) O it ikakhfTk; OC ia MiuahfTk; cs;s tl;lj;ij mikf;f.  

iv) Tl;lj;jpd; Miuia mse;J vOJf.     

          

20. y = 2x – 3 vDk; Neh; Nfhl;il tiutjw;F 

i) fPNo cs;s ml;ltizia epug;Gf.  

x 2x – 3 y thpirg;gl;l Nrhbfs; 

-2 2× (-2) - 3 -7 ( -2 , -7 ) 

-1    

0    

1    

2    

 

ii) y = 2x – 3 vDk; Neh; Nfhl;il tiuf.  

 

iii) ,e;Neh; Nfhl;bd; gbj;jpwd; > ntl;Lj; Jz;il vOJf.  
 

21.   ngl;b xd;wpy; 3 gr;ir> 2 rptg;G> 4 kQ;rs; epw khgps;fs; cs;sd. 
ngl;bapypUe;J xU khgps; vOkhwhf ntspNa vLf;fg;gl;lJ. ntspNa 
vLf;fg;gl;l khgps;> 

i)  ngwg;gLk; vy;yh epfo;r;rpfisAk; khjphp ntspapy; fhl;Lf. 

ii)  rptg;G epw khgps; fpilg;gjw;fhd epfo;jfit fhz;f. 

iii) kQ;rs; epw khgps; my;yhjpUg;gjw;fhd epfo;jfT ahJ? 
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 22.  i)     jug;gl;l cUtpd; Rw;wsitf; fhz;f.  

   ii)   jug;gl;l cUtpd; gug;gsitf; fhz;f.  

 

 

 

         14cm 

 

     30cm 

   23. ePu; jhq;fp xd;wpd; ePsk; 2m mfyk; 1.5  m cauk; 1m MFk;. ,j;jhq;fpw;F rPuhd 

Ntfj;jpy; ePu; Foha; %yk; gha;r;rg;gLfpwJ. mf;Fohapdhy; 50 epkplj;jpy; jhq;fp 

Kw;whf epuk;gpaJ vdpd;. 

i) jhq;fpapd; fdtsitf; fhz;f.  

ii)   jhq;fpapd; nfhs;sit 𝑙 y; jUf. 

iii)   jhq;fpf;F ePu; toq;fg;gl;l Foha; %yk; epkplj;jpw;F ntspNaWk; ePupd;  

msitf; fhz;f. 

24. cUtpd; gug;gsitf; fhz;f.  

 
 

 
 

25. RUf;Ff. 
5𝑎−3

8
+ 

2𝑎+1 

8
 

 
 
 
 
26. 2x + y = 5 vDk; Neh; Nfhl;bd; gbj;jpwd;> ntl;Lj; Jz;ilf; fhz;f. 
 
 
 
 
27. Kf;Nfhzp ABC ,y;  AB ,d; ePsj;ijf; fhz;f.  
 
 
  
  

17cm  

8
cm

 

A 

C 

B 

8cm 

12cm 

5cm 


